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Lateral Thinking
Thinking by changing both
the the underlying concepts
adnt the perception.



101 - 102 = 1

THINKING OUT
OF THE BOX

More Puzzles

Chess Puzzle Probability? Correct it
White's turn. Mate in one

move.



It is completely possible
wiht one legal chess move.

A queer question! Move one number to make
the equation correct.



Yes. Just one number is

enough.

START SIMPLE

Connect all dots with 4
continuous straight lines without
lifting the pencil.

If this was easy try a 4x4 grid
with 6 lines.
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